___Manager

I[dManager: N

____Coordinator

IdCoordinator: N

____Investigator
Idinvestigator: N

____ Controller

IdController: N

EO

sub_Manager: F Manager

sub_Investigator: [ Investigator

sub_Coordinator: | Coordinator

sub_Controller: [ Controller
ControllerToManager: Controller «<— Manager
Investigator ToManager: Investigator «<— Manager
Manager Tol nvestigator: Manager < Investigator
Manager ToCoordinator: Manager <— Coordinator
Coordinator ToManager: Coordinator <— Manager

dom ControllerToManager < sub_Controller

A ran ControllerToManager < sub_Manager

dom Investigator ToManager € sub_lnvestigator

A ran Investigator ToManager € sub_Manager

dom Manager Tolnvestigator < sub_Manager

A ran Manager Tolnvestigator < sub_Investigator
dom Manager ToCoordinator € sub_Manager

A ran Manager ToCoordinator < sub_Coordinator
dom Coordinator ToManager < sub_Coordinator

A ran Coordinator ToManager € sub_Manager
#sub_Manager < 3 A #sub_Manager >0

Vx: sub_Controller « # (ControllerToManager ( {x}))
Vx: sub_Manager - # (Manager Tolnvestigator ( {x} ))
Vx: sub_Manager - # (Manager ToCoordinator ( {x} ))
Vx: sub_Coordinator - # (Coordinator ToManager ( {x} ))
Vx: sub_Investigator - # (Investigator ToManager ( {x} ))

=1
<O
<5
=1
=1

___Insertinvestigator

AEO
i?: Investigator
m?. Manager

i? & sub_lInvestigator




m? € sub_Manager

# (Manager Tolnvestigator ({m?})) <5
sub_Coordinator’ = sub_Coordinator
sub_Manager’ = sub_Manager

sub_Controller’ = sub_Controller

Coordinator ToManager’ = Coordinator ToManager
Investigator ToManager’ = Investigator ToManager
ControllerToManager’ = ControllerToManager
Manager Tol nvestigator’ = Manager Tolnvestigator u {(m?, i?)}
Manager ToCoordinator’ = Manager ToCoor dinator
sub_Investigator’ = sub_Investigator u {i?}




